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2. Susan can pick 10 pounds of coffee in an hour or gather 5 pounds of nuts. Tom can pick
5 pounds of coffee in an hour or gather 10 pounds of nuts. Each works 8 hour pér day.
Answer the following questions. (5254 > #£154°) _

(a) What is the maximum number of pounds of coffee the two can pick in a day?

(b) If Susan and Tom were picking the maximum number of pounds of coffee when
they decided that they would like to begin gathering 20 pounds of nuts per day, who
would gather the nuts, and how many pounds of coffee would they still be able to
pick?

(c) Would it be possible for Susan and Tom in total to gather 30 pounds of nuts and
pick 105 pounds of coffee each day? If so, how much of each good should each

person pick?
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(c)What will happen to the equilibrium price and quantity in the corn
tortilla chip market if both of the following events occur: (1)
researchers discover that a vitamin found in corn helps protect
against cancer and heart disease and (2) a swarm of locusts
destroys part of corn crop? Use Demand—Supply diagram to show your
answers. (10 %%
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1 6 21 5
2 12 -39 12
3 18 54 21
4 24 66 32
5 30 75 45
6 36 81 80
7 42 84 77
8 48 84 96
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